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The arrangements (S1) and (S2) display the sensitivity equations obtained from the

photoacclimated model utilized in this study.
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The sensitivity equations are described by equations (S3) to (5102), which represent the
elements J¥;; and J@; ; of the sensitivity equations shown in the arrangements (S1) and

(52).
iy 2 Kyeaxsym
IoLng‘x( W T 1) ( KeilF T b)
%(1,1)= =D —
2 12k2 Iok Ko (Kpe +1*
L(Kpaxxsmm ooy ) 4k ke + okg st (Kpe+1%)
Ky +1* 8 Ky axxzym 2 L Kpxaxqxzym Shx+c ) +k Kpx3vm
Kir{ L W+bx+f +kg Kpe 17 xre | ke
2120k  Kppaxsmm g, IoLk, ( Kpxaxsmm 4y
- 20 07 g\ TKpe T 0=\ TR
Iokgﬂx 5 +1 3 Vi
3 Kpxaxxzym Kpxaxxzym
KL Wﬂvﬁc +kg L W+bx+c +kg
+ 2
Ky axx 12k2 Ik Ko (Kpe+17)
Kpeaxx3ym 08 0%g sl (K
(L( Ky +1* + bx + C) + kg> Kpw axxgym 2 + Kpxaxxgym Kpsx3ym
KI-I(L<7IKI* = +bx+c> +kg> L{ =kpar thxte | +he
lokgfi (—%2 +1)
+ —R
212 * .
Ky axx3ym Igks lokg Kor " (Kpe+1%)
(L(—KI* I + bx +c|+ kg Kpx axxzym 2 + Kpeaxxzym b X lexg’)/m
Ki1<L(W+bx+C)+kg> L\ Tk fhxte )tk
(S3)
9(2,1)=0 (54)
IoK+ Lakgﬁxzfym (—% + 1)
9(3,1) = —
2 *
(KI* + I*) (L(KK[* axxgl'ym by + C) +kg) I§k§ L+ Iokg + KSIK(K1*+I*)
+HI* K Kpxaxxzym 1*X3Ym
KI-I(L<%+ZM+C> +kg) L(W“’“C) +he
N lpzcokgfix
ZkZ Ink. * %
2 (7 ( Kpaxxsym Ioks okg Ko (K= +17)
.X3 (L( KI* +1>:< + bx + C) + kg) P 2 + K]*axx37ﬂl SKI*X:;’)/m
Ki1<L(7II<I*+31* +bx+c>+kg> L{ =kpar thxte | +he
21 . 2 * 5
Iokgﬁx(—% 1 215K« Lakgxym .t IoK = Lakgxym _ KSIK(KXIZH»I )
Kk +17) (LG e kg ) (pert) (L (SR e k)

+ 2
Ky axx 12k% Ik Kor " (Kps +1%)
Kpxaxx3ym 08 0ftg sl (K

(L( K]* +1I* + bx + C) + kg> K % axxzym 2 + Kpxaxxzym KI*X:;’)’m
Kjp <L<IK1*7+31*+Z’X+C> +kg> L TRl +bx+c +k8

(S5)



IoK - Lakgfix?x37ym (—ﬂ + 1)

8(4,1) = =
N 2 IZkZ Ink s * . *
(Kpe + 1) (L (S5 + b + c) +kg) ___li% a— Ko g +1)
Kir (L( llz;xf’}zm +bx+c> +kg> L <W+bx+c> +kg
. e 213K« Lak2xx3ym ToK j+ Lakgxx3ym Kt
Iokgyx(—ﬁ + 1) n 2 Kpxaxx3ym 3 2 II< * AXX3Ym 2 Kpsx3vm
Kig (Kpe+1) (L( 11<,*+31* +bx+c> +kg) (Kpe+17) (L( T +bx+c> +kg>
+ 2
* Izkz k * . K
(L(Se + o) +k) o e+ S
Ky <L<K11:Iixfﬂm +bx+€> +kg> L( IKI* Jj* +bx+c> +kg
(S6)
8(5,1) =0 (S7)
oy (1- 25
9(1,2) = O\ Ew) (S8)
Ky +vy
pry(1- ) pnx(1-2)
9(2,2) = —D + T (S9)
(Ky +v) y Ty
PmXy
9(3,2) = —2L (510)
(3.2) zem (Ky + )
9(4,2) =0 (S11)
8(5,2) =0 (S12)
IoLkgfi(—zco + x3) (EKI”%W + b)
9(1,3) =
2 2K Iok Ko™ (Kps +17)
L(KI*M‘QXS*’Ym + bx + C) +k ) 0"g 5 + e ;?1 g + SIK - I
( R ¢ & (L(b ey +bx+c> +kg) L( S +hxe) +h s

27,2 [ Kpeaxgym
215 Lkg <W +b)

Kyxaxxgym
I 3
Kjp (L( KT +bx+c> +kg>

Kpxaxgym
IOLkg( Kyt I +b)

2
Kp=axxzym
<L< IKI*H* +bx+c> +kg>

I()kgﬂ(—ZC() + X3) <+

2
. 1213 Iok Kor* (Kps+1*
(L(—K%ffﬁi’" +bx+ c) + kg) 1 T e [
axx: *
Ky <L( 1;(*[* lem +bx+c> +kg> L( KpTl +bx+c> +kg
(S13)

1—-22)  pm(1—22
8(2,3) = (1o 25) + (1-) (S14)
(Ky +y)° Ky +x2




ToKy+ Lakgﬁx'ym (—zco + x3)

19(3,3) =
(KI" +I*)(L Ky=axxzym ) 2 12k2
g thx+c) +kg 0%¢ .+ lokg Kot (Kpe +1%)
Kip (L( K]*Jrl*m +bx+c +kg> L %+bx+c>+k‘g Ky x3ym
7 212K+ Lak?
IOkg]l(—ZCO +X3) o Kp+ Lakgxym + IoKps Lakgxym Keg* (Kpe+ 17
Ku(KI*+I*)<L W+b1+ k ? Kyxaxxsy, > + le é* )
— Ky 17 ¢ )tkg (Kl*“*)(L(IKﬁifl*m*b”C) +k8) o
(L(K[* axxyym + bx + c k ngZ 2
K+ + kg - g S+ Iokg Ky* (Kps +17)
# AXX K
Kif <L<§<1*7szm+bx+c>+kg> L(%MxH) Tk Kpx3Ym
- lokgft
(L(M+bx+c)+k 1253 .
e ¢ Kpxaxxgym 2 + Ky axx o KSI*(KI*+I*)
. *
Kip <L<W+bx+c> +kg> L(%l*iﬁ+bx+c> +k8 Kp«x37m
(S15)
9(4,3) = IoKr+ Lakgﬁx'ym(—zq) + x3)
(KI* + I*) (L(KI‘aXXSymax + bx + k 2 12K2
TRt ¢) +ke P - 7+ loks Ko (K= +17)
axx: K "
Kﬂ(L(W+bx+c)+kg> L<%+bx+c> Tk Kpx37m
T 212K« Lak2
Iokgfi(—zco + x3) o Kps Lakg xym n ToKp+ Lakgxym Kot (Kpe +17)
K,—,(K1*+1*)<L MMH k E Kps axx37, 7 le é*
_ Ky +T7 )tk (K1*+I*)<L<IKI*7+SI*m+bx+C> +kg> 1X3Ym
({5 1 prrc) 4k e y 2
Kl 8 Kpxaxxzy 2 + K e Kor" (Kpe+1%)
. m * AX.
Kip (L(‘,Kl*iJrsl*+bX+c) +kg> L<%+bx+c> +kg Kpexzym
(S16)

8(5,3) =0 -



frga(—5 +1) (%t +b)

9(1,4) = —
(L(m tbrtc) k) 122
K+l c)+ke — 5+ ——— Ko (Kpr+17)
. Kpraxxzym *ax. *
Ku(L( eat +bx+c>+kg> L(%I*iﬂ”w“c)%g Kpex37m
o Zi
Iobkgi(~580 4 1) | i | (St )
* AXX *
- (le*iﬁzmwxﬁc) +hg Kpetd
Kpxaxxs 2 2,2
(L(—lm@—l—bx—l—c +k Iokg Iok Ko+ .
! ¢ Kpxaxxgymax 2 + Kpsaxx . + st (Kpe £17)
Kir (L ( W+bx+c> +kg> L(%Mxﬂ) +kg Ky x37m
5 2512 ( Kpraxgy
K axx I*
L<M+bx+ ) 3+
Kail ¢ )+kg Koy (L[ Kazmxxsom Kp :
. f (L (s o) (SR b))
(L (Kp«axxyym byt 3 22 2
Ky +17 )+ 8 K . > + K lokg + Ko (Kpe+17)
(L Kaoxxaam axx x
Kip <L< K= +I*m +bx+c> +kg) L(%ﬁ»bx*FC) +kg Kp=x37m
(518)
9(2,4) =0
(2,4) (S19)
2 2 ~ ZC|
9(3,4) = — oK+ Lakg fixym (—ﬁ + 1)
(Kp + I* (L(KWXXS'YW: b 8 12k2
L X 0
) Ko +bx+c) +kg - £ R Iokg Kot (Kp=+1%)
. Kpaxxzym % AXX n
K’I<L< Kyt T* +berC)*"sz) L(%*““) Tke Rt
oKy Lakgfixym (—% + 1) — 7Iokg o
* m
L(ﬁ+bx+c)+k8
(K1*+1*)(L(M+bx+c +r) 122 "
KI*+I* 8 Kpxaxxzy 2 + K L KSI*(KI*+I*)
; D A3 Tm axx *
Kip (L( Kt +bx+c) +k8) L(lK*l*iszm+bx+c>+kg K[ X3Ym
Tozcokgfi Iokg _
Kpaxxgy
n L(male+bx+c) +kg
2 Kpxaxx 212
X L(I—WW 2k
3( K1l T bx+c) +kg - 07g + 2 Iokg Kor* (Kps +1*)
R I*Hxxsﬁm *
Kir <L<W+bx+c> +kg> L(%+bx+c)+kg Kpex3ym
Ink ~(_ﬂ 1) Iokg 212K, Lak2
0KkgH X3 + [ —I* o Kpr Lake X ym + IoK s Lakgxym
L ﬁ+bx+c +k Kpraxxzy ?
+ i ¢ Kip (Kpe+1%) ( L "8 4 ptee ) +k Koo 19) [ 1 (Krzvamm
Kpetl 4 (Kpe+I)( L T +bx+c>+k8>
Kpraxx
L( * 37,,, 2ko?
( Kerr thxtc)+k — £ >+ Toks Kop* (Kp +1%)
. *AXX3Y Kpx
Kip (L <II<I*7+33*m+bx+c> +kg> L (%wac) ke rsYmer

(S20)



I()K[*Lﬂk xx __ %% +1 Iokg o7
8 3Ym 2 Fp— I
0(4,4) = ( Kot +bx+c>+kg
% )2 Ky« axxzym 2 12k2
(Kpe 4+ 1) (L (S5 + b +-c) + kg ) 44 I P
a % AXX3 7 -
Kip <L<%+bx+c> +kg> L(ﬁ+bx+c) +kg Kpexzym
a(—20 Iok 2K . Lak2
I()kgﬂ( X3 T 1) L<K1*axx3%n gb ) - I - 2k Lakgxxyym . — ToKp* LakgxIS’Ym
***74’ x+c | +k X 2 Kipxaxqx3y N
" Ky +1 g Kip (K= +1%) (L(%Tgr%l’%»berc) +kg> (Kps+17)? <L<%ﬂ+bx+c
Kpxaxx 212
I 3Ym I5k
(L( Kotl +bx+c) +kg) - 0"g s+ —2 Iokg + Kog* (Kps +1%)
x AXX: % -
Ki1<L<IKI*7+3,zm+bx+c> +kg> L<%+bx+c> g Kp=x37m
IOkg,ﬂ <_Zxﬂ + 1) IoK = Lakgxx3ym 1
3 7
)2 Kpxaxxgym
4 (Kp+1*) <L<W+bx+c>+k8>
KI* axxsym IZkZ
(L(_K]*‘f’l* =+ bx + C) + kg) - 078 . + IOkg Ksl*(K[*+I*)
X % AXX37Y K o
Kll <L<1KI*7+31*m+bx+c> +kg> L(%‘Fb?ﬂ*ﬁ)%»kg 1*X3Ym
(S21)
9(5,4) =
(5:4) =0 (S22)
IoLk “(_ﬂ Kpax37m
8(1,5) = — oLkt =% + 1) Kgr th (—Bxs —qg+1)
Ky axxzym 2 12K2
(L( KT I + bx +C) +kg) p 08 2 + K Iokg Ks[*(K1*+I*)
*AxXX3Y .
KiI(L<IKI*7+3I*"’+bx+C> +kg> L(W e +C> I T
2512 ( Kpraxzy .
ok ﬁ( 2 1) 210Lkg<ll<T+31*ﬂ+b> IoLkg<%ﬁ+b>
8 - X3 *
(L[ Kraaom ’ K 7 | (—Bxs —gg+1
+ K”<L< K+ “’x“) *kg> <L<%+bx+c) +kg> g +1)
K 2
B axxsym 122
(L( K1*+I* +bx +C) +kg) . 078 5 + - Iokg Ksl*(K1*+I*)
) % AXX3Y, *AX *
K11<L(’,<V7Li"”+bx+c>+kg> L(%Mxﬂ,) Tk Kpx37m
(523)

8(2,5) = 2 (1-2) aen(1-2)
(Ky +x2)° Ky + 22 (S24)




oKy Lakgfixym, (—% + 1) (—Bx3 —qg+1)

8(3,5) = —
2
K M 12K2
( I* +X4) (L( KT +bx+c +kg — : g >+ — lokg KsIK*<KI*+IX)
* * AXX
Kip (L (’Kﬂiﬁl*“bﬂc) +kg> L (%Z’iwﬁc) kg 13 %m
+ Iozeokgfi (—pxs — qg +1)
2 (1 ( Keaxxsym 2
3 (L( Kir bt C) * kg) K = 7+ — lokg Ko (Kpe+1%)
axx: * -
K"1<L<II<:*7+§Zm+bx+c>+kg> L(%ﬂ-bx-&-c)-rkg Kpex3m
- lopkfi( 2 +1)
Kp=axx3ym 12K2
(L( K+ + bx +c) +kg) - 0*% ;+ Iokg Ko (Kpe+1°)
* AXX % AXX -
Kir (L<IKV7+BI:W+bx+C> +kg> L(%H}x-&-c) kg K+ x37m
i —Z0 212K« Lak?
IOkg’/l< X3 + 1) (_ﬁx:’) - Qg + 1) 0 KI K XYm ; ToK = Lakgx'ym KSI*<KI* +I*)
. 5 AXX E Koz 223 >
n KzI(KI*+1*)<L<II<1*7+?;Zm+bx+c> +kg> (K[*H*)(L(%erﬁc) +kg) Kp<X37m
K 2
Ry axx3ym 12K2
(L( K+ +bx+C> +kg) — 08 . + R Ing Kyf* (Kps +T7)
Ki,<L<II<I*7~+3;,ZW+hx+c> +kg> L<%+M ﬂ) e K
_ygonxs
zem (Ky + x2)
(525)
IoK+ Lakji _ z _
9(4,5) = oKy Lakgfixxzym| =5 +1 (—Bx3—qe+1)
2 Kpxaxx 2 212
(Kp-+17) (L(%Ifﬁm +bx + C) + kg) loks .+ Iokg Kor* (Kps+1%)
Kpe -
Kip (L<%+hx+C) +kg> L(%Hﬁ&c) g K= x37m
i — %0 213K} Lak?
Iokgﬂ< X3 + 1) (—,Bx3 —fqg+ 1) —K - : 0 I;,*uxijj:,w - IoK» Lakgxxsym K,
i «+1*)" (L t—=2— 7 T R
+ 1[( I* ) ( ( ISTEE +bx+C)+kg) (K1*+I*)2<L<%+bx+c>+kg> K x37m
K 2
L(M 1313 .
( KI*+I* + bx + ¢ + kg Ky« axx ’[y) : 2 + Kysaxx I[)kg Ks%(K1*+I*)
Ki <L<§<I*7+3,f"+bx+c) +kg> L(%%X-ﬂ) +g 1+ X3%m
(526)
Tokoil (_ﬂ
8(5,5) = — okgfi{ =% +1
+R
K *AXX37Y, 212
(L(_I_KI*H* "+ bx + c) + kg) Igks ;+ Iokg Kof* (Kpe +17)
K axa K% axa
Ki] <L<%+bx+c> +kg> L(%‘Fb}(%{) +kg Kl*x37m
(527)
@(1,1) = —
(L1) == (528)

@(2,1) = Ds — x, (S29)



@(3,1)=0 (S30)
2
Io]%ﬂx(—% + 1) _ 21k . kg
X [
Kir <L<%+bx+c> +kg> L<%+bxl+c> +kg
@(1,2) =
2
212
(L (% + bx + C) + kg) ok 5+ Lokg Kle(K1x+I*)
Kixax Kisaxx X
Ki,<L(%+bx+c) +kg> L(%I*iflzm+bx+c> kg 1 (S33)
Thd )
+ kgiiv(—52 +1)
212
(L (—J—K }5?13]’" + bx + C) + kg) Tokg 7+ % lokg KsII:(Kz*H*)
Kif <L<%+bx+c> +kg) L(%+bx+c) g X7
@(2,2) =0 (S34)
- 21pk2
Iokg]/t(fzco +x3)| — - 0kg N — ke
* * AXX
Kir <L<%+bx+c) +k8> L(%ﬁiﬁzm+bx+c> +kg
@(3,2) = — I
2
Kp=axx3ym 12k2 Ink *(Koe ]
(L( Kpetl? Fhxe) kg Kpx axx A(Y)mg 2+ KI*”’%WE . KS[I([(QS’;;I )
Kip (L(’Kl*ij*%xﬂ) +kg> L<W+bx+c> +kg
_ kgfi(—zco + x3)
Kpxaxxzym 1212 Ink Ko (Koot ]*
(L<—K,*+I* + bx +C) —l—kg) — ;J g y+ = mmz g leI(*;s;;I )
Ki (L(%l*iﬁ*m+bx+c> +kg> L<w+bx+c> +kg

(S35)



@(4,2) =

@(5,2) =

+

k2 (—%2 +1)

2
(1S b ) 1)

212
IOkQ

Iokg K1 (Kpe+1%)

7l
Iokg]/l( X3 + 1) L(Kl*axx37m

W +bI+C> +kg

— I -

2+ 7%
K [*AXX3Ym
Ki[(L(A zlzlt;xf}zm +bx+c> +kg> L<7K1* i +bx+c> +kg

2
210k}

Kpx37m

ke

Ky axxgym
. I 3
Kiy <L( Kpx +17

2 Kpsaxqxgy
+bx+c> +kg> L ( B s +bx+c> the

+

2
X 12k3 Ink (Ko I*
(L(%—l—bx—l—c)—l—kg) 0k 7+ Kop (Kpe£17)
I* Kpsaxxgym b « 1 Krerxxaym Sbrde)tk 1%X3Ym
Kir{ L TR rlr Toxe kg K +17 g
koii( =20 4+ 1 Lokg I
gﬂ X3 L leaxxa'ym b k
R Tyt )tk
+
* 122 Ink (K 4%
L(Kemaxsmm opy40) 4k 0"g y + e L8 Kor" (Kpx+1%)
Kps+I 8 Kpxaxxzey L( 2L8XxsTm o) 4k Kpex3ym
Kir <L<7’K ol +bx+c) +k ) Kyt T0XTC) T
I*+l 8
(S36)
21pk2 k
~ z¢ 0%g 8
Iokgﬂ(—ﬁ +1> - Ky ax537m 7 Kpxaxxzm (_ﬁX?) _Qg‘f'].)
Ki1<L<W+bx+c) +kg> L W%Hc +kg
2
Kyxaxx: 123 Iok Ko (Kpe41%)
L 3Ym 0"g 0%g s\
(L( Ky +17 + bx + C) T kg Kpxaxxzym 2 + Kpxaxxzym K x37m
Ki1<L<w+bx+c> +kg> L WH’HC +kg (S37)
~ z¢
kgy(—ﬁ + 1) (=Bxz —x5+1)
4
* 1212 Ink * I
({23 +bx +) + k) 0% ; + ok Kop (K- £17)
I* Kpsaxxgym L Kpxaxxgym Sbrde) bk 1X3Ym
Kir( L W+b1+c +kg Kl g
INSE Lukgﬁx2x3 (—% + 1)
2 212
Kyxaxx I5k Iok Ko™ (Kps+1%)
* L 3Ym 0"g 0%g sl \Rp
(Kpe +1 )(L( Kp+r +bx +C) * kg) Kpm aveaym 7+ L(REE ) 4k Koig7m
Kir <L<IKI*7+:}*+M+C> +kg> JSNEs 4

213K+ Lakixxs

IoK = Lakgxxs

Iok ﬂx(—ﬂ + 1) + + Ko (Kp«+1%)
8 *3 N Kpxaxxgym 3 . Kpxaxxgym 2 Kpx X375
Kip (Kp«+1*)( L W+bx+c +kg (Ki+I*)( L W+bx+c +kg
2
L(Kpaxsym oyt o) 4k I3kg + Iokg Kor* (Kp= +1%)
Kpx+1* 8 Kpaxxzym 2 L Kpxaxxgym b k Kpxx3ym
Kir{ L W+bx+c +kg Kyt +bxtc | +kg
(S38)

@(2,3) =0

(S39)



IoK+ Lakg‘ﬂxx?)(_zco + x3)

@(3,3) =
(Kpe + 1) (L (52890 4 ) + 2 2o -
Kpx+1* 8 P ~ + 0kg Ko™ (Kp+17)
N * AXX3Y K
K,1<L<§<I*7M+bx+c) +kg> L(%HHQ Tk Ry« X37m
- , )
Tokgfi(— 213K, Lakxxs
okgfi(—zco + x3) P T+ 1K Lakgxs P
K; “ * Kpxaxxzym — 5
_ i (Kpe+1 )(L< Kpe+I7 +bx+c> +k8) (KI*JrI*)(L(%HJH»c) +kg) Kpmx372
2
(L<M+bx+c T 1 y
Ky +1* g o 5 + - 0Kg Ker* (Kpe+17)
i * % .
Kip <L<1K1*7+3I*m+bx+c> +k8> L<%+bx+c> Ty Kpox37m
- lokgp
Ky axi 637 2
(L( Kty T 0X1+ C) + kg) et e ok )
; 1 m ax
Kir (LS o) k)T (TR Homre) by R
4 R—__Pm¥2
QI(Ky +x2)
(540)
2 2~
@(4,3) = — IOKI*Lakgyxxg,(,% +1)
K 3
(Kps +1%) (L(z’sx% +bx + c) +k8) 13K 4+ Iokg | K ()
KiI(L(%+bx+c)+kg) L(%MHC) ke K x37m
[oK- LakgﬂXXS(—% + 1) - Iokg o
* .
_ L(%Zﬂ+bx+c)+kg
(Kpe + 1) (L Kppoamm o, 2 e
Ky +TI7 +0x1+¢ +k8) - 0% ,+ Iokg Ko™ (Kps +17)
K,-z(L(%H;xﬁc) +kg> L(E%H,xﬂ) e K %37m
Ik “<7ﬂ Iok , ,
okgfi( =% +1 Ky« axxzym £ . 215K Lak}xxs n IoK ;s Lakgxxs Kot (Kpe T
L W+bx+c>+kg Kip(Kp+14) (L K axx37m 3 p L+ o 1*+2 )
+ i1 (Kpe+1%) W+bx+5) +kg> (Kps+1%) (L (%4&3{4%) +kg) Kpex377%
(L(M b . 2 5
Kps+1* x+c)+ e P~ 0"g S+ Iokg n Ko* (K +1%)
K (L(Zl’giﬂnerXJrc) +k3) L(%+bx+5) +kg K« X37m
(541)
_ ) o
@(5,3) = — IoK; Lakgyxz( < +1) (_,BZ_Qg+1)
(KI*+I*)<L Kpaxzyn o) ) e
Kp-+17 c)+kg - 0% 4 Iokg K (K1)
. * AXZ7Y, K
KzI(L<Il(I*7+I*m+bX+C> +kg> L<%+bx+c) kg K+ z7m
Inkoji (— 20 e 22K e Lak2
Okgll( z T 1)( Pz —qg + 1) OKI Gz + IoK Lakgxz Ko (K 41°)
; axzvy; -
+ Kir (K= +I%) <L<%+bx+c> +kg> (Kp=+17) (L<%+bx+c> +kg)2 K27l
(L Kpraxzym +b 122 2
K= +T7 x+c +kg) - oks -+ Tokg L K (K1)
. % AXZ7Y] X
KzI(L<ﬁ+bx+c> +kg> L(%erxﬂ) g K= 27m

(S42)



Iokgfix(Kp- + 1) (~ 20 4 1)

@(1,4) = —
2
Kyxaxz 212
Kpzym (L(_I]Q*T’Z‘m +bx + C) + kg) — Igkg -+ . Iokg i Ksl;(K1*+l*)
Kir (L( llzlikij’lnl +bx+c>+kg> L( Igff};‘m +bx+C>+kg 1*Z%m
(543)
@(2,4) =0 (544)
©(3,4) = Iokefi(Kr- + 1) (~2¢0 + 2)
2
Kpxaxz 212
Kp=zym (L(_I_K*l*+g«m + bx + C) + kg) - Igkg S+ . Iokg n KSI;((K[*+I*)
* AX: * -
O e I R S
(545)
Tokgfi(Kp +T") (=52 4 1) Tokg o
z L(Kl*axxsym bvre) 4k
@(4,4) = — KA s
2
* 2
Kp-zym (L(% +bx + C) +k ) Ik + Tokg Ko™ (Kp+1%)
et 8 (L Kpxaxzym 2 Kpx axzrm =+ Kzy
’I( ( KT H”““)*"g) L( T +bx+c) the ym
(546)
3 * z¢
@(5,4) = — Iokgfi(Kp + 1) (=% +1) (=pz —q5 +1)
2
Ky 212
Krzym (L(_I]an% +bx+ C) + kg) loks s+ lokg 4 Kt (Kpe 1)
Kir (L<Kgf)f7£" +bx+c> +kg> L(?}f‘fjl” +bx+c> +kg Kp=zym
(547)
IOLk ~X(—ﬂ +1 <_m AXZYm
s +
@(1,5) = — z ) (Kpet19)> "+ KpeFI
K * 2 2 2
(L(W +bx + C) + kg) loks -+ Iokg Ko (K= +1%)
Kjxax: B B
Kir <L< é[:fﬂn +bx+c> +kg> L(K}(I:izllm +bx+c> kg Kpxzym
2Ing2 (_M+ axzym ) InLk (_M M)
i : Pher) T TR (548)
zC Kps+1* I #\2 | Kpx I
Iokgyx(—le 4 1) R (Kpe+1%) -+ (Kpe+17)? 0 K1 / _ KK‘I* Koy (Kpe +1°)
% AXZ! § -
k(e ) o) (LA ) r) T
2
Kpxaxzym 1212 " )
<L( Kpe 17 - bx * C) +kg> K *meo - 2 + Ky axz - KSIIEKIZ* L
Kir <L< JI<I* e +bx+c) +kg> L( II<I*+IW*m +bx+c> +kg e

@(2,5)=0 (549)



ToLkgfi(—zc0 + 2) ( Kooy ,gffr;;>

@(3,5) =
Kj«axz 2 Izk2
(L(8FaTe +bx +c) +k ) + Ioks Ky (K )
K Kysaxzy xZ
Kit (L (W +bx+c> +kg) L (%erﬁc) +kg 1
2712 KI* axzoym HAz’y Ky axzy,
~ 2lgLkg ( i) TR AT IoLkg (*(Klil*mfr K1 ) ‘ (S50)
Iokg],l(_zco + Z) 3 1+ ) [ — KKSI Ko * (Kps+17)
. Kpaxzy Kpxaxz 1*Z0m K2z
K,I(L< e +bx+c> +kg> (L(%}Jf’ +bx+c> +kg> 1%Ym
Kpeaxz 252
(z (fq—u%" +bx+ C) * ks) = r+ bofe L
K
K (L(%f’fﬁ” +bx+c> +k8> L(%’;f)ﬁ’” +bx+c> +kg 1=
LK (— % _ Kpaxzyw | axzym
I Lk ]/l( +1)< (Kx+1*)2 +KI>:<+I*
@(4,5) = — 1
K 3 2;2
(L(% +bx+ c) + kg> loky L+ ok 4+ Ka(Kpe1)
Kil<L(K,£* il +bx+c) +kg) L(LKTTZI" +bx+c) +kg 1=
oLk ,,( zgo + 1) Iokg o _ Kpaxzo axzym
gh I I | K
L<£Lm+bx+c> +hg (KV—}—]*)Z Kps+1
K 2 212 . .
(L( M2 4 b+ ) + kg ) loks : + lokg + K K i)
1 Kpxaxzym Kpxaxzym Kpzym
K| L = +bx+c | +k, L 4 bxy4c | +k
Kpe+1 4 Kpet1 4
212LK2 < Kpxaxzym 4+ axzym ) InLk < Kpx axzym axzym >
ok |~z TR obkg| ————t 117
Iokgfi(—*2 +1) < lokg - I U )" ~+ (kpp i) et Ko* , Ker*(Kps+17)
1% AXZYm 2 7 K= 2
L( Kt 17 +bx+c) thy Ku@(%ﬂ:ﬂc) +kg) (L(Ké;f’fﬁm +bx+c> +kg) 1= Kpezvm
4
Kpxaxz 12Kk2 .
L(Ii%n ¥+ bx +c) 4k ) 0% lokg Ko (Kpe+1*)
( Kps+x4 8 + SK,*sz

Kpxaxzym 2 + Kpxaxzym
Kir( L +hx+c>+kg> L\ S toxte ) thg

Kpe +1%

(S51)



~ K * m m
ok (~ +1) (- Kemme g ) -z g 41)

@(5,5) = —
Kp«axz 2 1212
(L(_I_KI*+?;"1 + bx =+ C) + kg) okg . + Iokg i Ksl*(K1*+I*)
K K
Ki (L <%+h}(+c> +kg> L (%—&-hx-&—c) +kg Kprzym
i(— Lok Kp-
IOLkg]l( - —I—]) e g I (_ I axz;ymz 4 I?xz,yrln*
L(Wﬁ’bxﬁfC)‘H{g (K1*+I ) I"+
Kp«axz 2 1212
(L(Ig*—ﬂzm +bx+ C) + kg) ok » + Iokg 4 K (K41
K K .
Ki <L<%+hx+c> +kg> L(%-‘rhx]—&-c) g Krezym
2121k2 (_M+ axzym > InLk ( Kpsaxzym | axzym
& 0= 2 TR+ 7 oLkg| ————5+ L
¢ Kpxe +T 1 % Kx +1 . ; )
IOkg]/l(_JZl + 1) (_ﬁZ o qg + 1) leileym ) 3 (KI*+I ) ! > — KKGI‘ _|_ KsI (ZKI* +I‘)
Kir (L(W“’”C)Hg) (L(%#+bx+c> +kg> +2%m K2 zm
+
2
K 212
(L( Iéangm + bx + C) +k Igks + Iokg Ko (Kps +1%)
- g Kpxaxzym 2 Ky« axxgym + KI*Z'Y
Kir{ L WH’HC) +kg> L W+bx+c> +kg "
(S52)
Bi3ux (—ﬂ 1)
(D(l, 6) = 0 g}’l 1 X3 +
2 Kpxaxix39m 3 122 2
Kt TKen © b + C) * kg) K o 5+ —x Tokg Kor* (K +x4)
*AX1 X *AX1 X
Kir (L(J#+bxl+c>+k3) L(W+bxl+c>+kg K« x37m
(553)
@(2,6) =0 (S54)
313
@(3,6) = — Igkgp(—zco + x3)
2 Ky« axix3ym 3 12k2 2
K (L PRy - Hha+ c) +k ok n Iokg K (K 4xa)
1 +Xg 8 Kpxaxqxg3ym 2 Ky axy x37m T
Kir(L{ —% g Tbvite)+k L( g tbxy+c)+k 1+ X3%Ym
1+t g g g
(S55)
1313 (_ﬂ 1) Iokg -
e wt L(“LE sy )+ e
(D(4/ 6) - Ky +xy 1 g
2 K= ax1x39m 3 252 2
Kif(L\ 7k +bx;+c)+k 0% 4 Iokg Koy (Kps +x4)
Xy 8 Kpx axqx3ym 2 Kpwax x37m + e
Kip (L(W+bx1+c) +k8) L(W+bxl+C) +kg 15 X3%m

(S56)



Ikp (—% + 1) (=bixz — x5+ 1)

@(5,6) = 3 22 z
2 Kiaxix3ym Ioks Iokg + Kor" (K= +x4)
1 <L< Ko Thxi+ C) +kg) (KiI(L(W+bx1+C)+kg)z + L(&;‘z;%fzm”xﬁc)*kg K X37m
(S57)
@(1,7) =0 (S58)
27 wn(l-§) (S59)
@(2,7) = _W
X2 1-— ﬁl
®(3,7) = % (S60)
@(4,7) =0 (S61)
axp(1— 5
@(5,7) = —% (S62)
@(1,8) =0 (S63)
pmx1x2 (1 — 2
@(2,8) = L?) (564)
(Ky + x2)
omx2(1— %
©(3,8) = —LQZ’) (S65)
(Ky + x2)
@(4,8) =0 (S66)
apmxz(1— 2
@(5,8) = M (S67)
X 2
(Ky +x2)
@(1,9) =0 (568)
PmX1X2X3
@(2,9) = -T2 (569)
29 =~ 5R (K, + )
- OmX2X3
@(4,9) =0 (S71)
XOmX2X3
@(5,9) = —— 22 (572)
59 = ~5R (K, + )
@(1,10) = — lokgy (573)

. 2 *
KpxaxqX3m ( (K #AX1X37m ) ) Ipkg Kor* (K +x4)
1%0%1%3 212K, I k +
x3 (L (St +bx1+c)+kx)( frac igKin (L (T +bre) +hg )+ ( LT Wﬁ[)w e
* T4



@(2,10) =0 (574)

(3,10) loks
@|(95, =
2§2 Iok Ko™ (K« +x4)
Kpxax1x3vm IO 8 + — 8 + -
(s ot o) )| e gy R e R
1 (S75)
lokgp <L(Kf;;jjf3;m Fhxre) tg 4)
@(4,10) = —
( ) Kpeaxix3ym b k I§k§ + Iokg Ko™ (Kpe+x4)
X3 (L( KI* ) + X1 + C) + g) Ky (L(KI;(”E:?,W” +bx1+c) +kg)2 L(K12?2T51m +bxl+c) +kg KI*X:;’)’m
Y (S76)
) Iokg}l(—th3 — X5 + 1)
@(5,10) = —
( K , k 1§k§ I Iokg + Kop* (Kpe+2x4)
s (L( Kprg 0% C) + g) K‘I(L(4K11*<M1+X37m,+bx1+6)+k8>2 L(FRS oy kg K
i « g
' (S77)
@(1,11) =0 (578)
@(2,11) =0 (879)
@(3,11) =0 (S80)
@(4,11) =0 (S81)
pos(1— )
@(5,11) = ————=2~ (582)
( ) Ky + x2
@(1,12) =0 (583)
@(2,12) =0 (S84)
@(3,12) =0 (S85)
@(4,12) =0 (S86)
Iokg}lx;; (—% + 1)
@(5,12) = —
( : Ky ax1x3m b +k ) 133 + Iokg Ks]l((KI* +x4)
(L( Kptrg T 0%1F C) ¢ K (L (e +bx1+c)+kg)2 L(Fh il by he) g [
)l

(S87)



IoKy- Lkgpx3xzym (7 o4 1)

2 212 .
Kjaxx Ik Iok. Koi™ (K +x4)
(K- +x4)(L(7’ T 7] +c> +k ) = + 2 + L
K +x & axyx37m 2 K= axyx37m Kp=x:
s K‘:(L(ik’g,‘}ﬁ; +bx1+c)+kg) L(i’x, L b “)*k 1

Tokgpixy (_ﬂ + 1) 203K+ LKEx1 37 n 1K Lkg X135 7m (588)
) " Ki(Kp ) (LSS +brcve) 4y ) (K ) (L (R b e )+ )

2
22 .
K= ax1x37y Igk3 Iok, Kor™ (K= +x4)
L(i’ 1230 4 px +c)+k) = + £ +
K- +x; 1 8 p— 7 Ky o537 Ki-x
1+ K”(L(klk;,:l{rf;w +bx1+c) +kg) L( 1;(:'1‘:34 m +bx1+c) kg 17 X3%m

@(1,13) = —

+

®(2,13) =0 (589)

IoK e Lkgpx1X3vm (—2co + x3)

2 212 *
Kp«ax x I5k3 Ik, Ker ™ (Kpe+x4)
Ky +x (L(Merx +c)+k> + TREea + =k
( 4) K +x4 1 8 K, (L(KIxarlv:;"ym +br1+c) , ) L(K[* 1537m +bx1+c) g Ky X37m

@(3,13) =

K+ [STEE

205K LK X163 m oK+ Lkgx1X37m (590)

Kir (Kp+x4) (L ( 7&2:?:347'" +bx1 +c) Jrkg>3 N (K= +2x4) (L ( 5’2;?33]"' +bx +C) +kg) )

Iokgy(—zco + x3)

(L(Kmxlxs“rm by + C) T kg) 13k _— _lokg 4 Kor™ (K +x4)

Ky« +x. Kox Ky axqx3vm K x
o Ka (L( SRR b ) +) L(Fh ™ +hnre) v e

I(%Kp Lkéyxlxg,'ym (— o 4 1)

3 212 *
Kj=ax1x IK; Ik, Kar* (Kps +x4)
(K1~+X4)(L(7' 1% +bx1+c)+k > H 5 + —x= < + =
K 1 8 I<L,(L(J;K ;::Q;‘]”’ +bx,+c)+kx) L( K::ﬁ:m *’”’l*c) +kg K33

©4,13) =

lokg
ToKLkgpixyx (—Z_ﬂ 1) [ S—
oKiLkgpx1x3ym| —%5 + L( mm,,, . +C)+k 4

(K- 4 x4) (L(% + bx1 + C) + kg>2 <I< ( ( Uil Lok + Ksl'(K1~+x4)> (891)
i

+ -
Kearis z Ry axy v am Kpex
L Kz,f‘fi?m b C) kR) L( Kl*l"": e C) +hg e

Kpr 34 Kpe+34

+
Kp-ax; x. Bk lokg Kat* (Kpe+34)
L(KgH2e 4 bxy +c) + k) : + et
( K+, 1 8 KL:(L(K o +bx;+c)+kx)z L(KIK"’HY}WW b +c)+k K- X37m

Ik 12K+ L2 X1 X373 IoK;» Lk, "
Iokgﬂ(i% + 1) K ~"‘1Yx%? X . l<l ax S 3+ ’ Kl/:v S
3 L( ek +b.n+r)+kx K,,(K,rﬂ;)( (Mﬂmﬂ)”) (K,,Jrn)( (Lumt%xﬁc)%)
2

IoKp« Lkg px1x37m (—%‘) + 1) (—=bixg — x5+ 1)

@(5,13) = —

2 2 *
Kp=ax;x I5kg? Iokg Kor* (Kp« +x4)
(K1*+x4)<L<7’ 1”m+bx1+c)+k) g 1+ e + =%
Ky s ¢ K,'I(L(ikleffzm +bX1+C) +kx) L( KI*1+/\3: +bx +C> kg Kis 25 m

212K« Lk2xq x IoKp= Lkgxyx
_ 2 0 K LK X1X3Ym 0K« Lkgx1 X3 B B
IokgV( n T 1) o 7+ i > | (—bix3 — x5+ 1)
N K (Kpexa) (L (SGEL2 b be) kg ) (Ko +arg) (L( St by )+ )
2
« I5k2 Ik 0 (Kpe
(L(w + bxq +C> +kg) 078 + Dok + K (Kp»+2x4)

Ky« +x. K4 ax 2 Kpx axyx3ym Ky x:
s K (L(%+bxl+c) +kv) L(WJrhxﬁc) +kg X3

(S92)

IpK - Lkgyx1x3'ym( ZCO + 1) (—=bixg — x5+ 1)

@(1,14) = —

Ky 4 xg) (L Kof850m 4 py 4 o) +k z Iikg® lokg 4 K (K1)
8

Kp«+x « i iy ¢ EYTERY] Ky x:
1+ K”(L(Kykﬂ:mw +bx1+c)+k,) L(%Hﬂfﬁﬂ)ﬂ@ 1+ X3Ym

215 Kpx LKGx1X3Ym ToKp Lkgx1 337

+
K027 2 3 K 2
Koy (Kps +34) (L(IKI% +bx1+c) +kg) (Kpx+24) (L (%wxﬁ—c) +kg)

Kpeaxx 15k} Iok Kor™ (Kp +x4)
L( I : 1X3Ym +bx1+c> +k ) >+ — g + sl I 4
(L(f I\ K (B b)) (i vne) ok KT

Iokgy(——Jrl) (—bexz — x5 +1)

JF

(593)



oLkgud (—%0 +1)

@(1,14) = —
2 212 *
Kpxaxx Igk Ik Ko™ (Kp +x4)
L(I 13’Ym+bx d+c)+k g + g s I
K +xs 1 8 Kpvaxyx37m 2 Ky axy 337m Kpx37
Kir (L< IK[*1+S4 +bx1+c> +kx) L( [SPE=T +bx1+c> +kg "
Inkoux (_@ + 1) 2[3Lkgx + IoLkgx; (594)
0KgHx1 X3 K (L(Klmﬂxswn Tbx +c)+k )3 (L(KI*WXWH +bx +C)+k )2
+ il [STREN) 1 8 Kpx +ay 1 g
) 2
Ky axix39m I5k% Iokg Ksr* (Kpe +x4)
(L( Ky tx4 + bxl +e)+ kg Kpxaxyx3vm 2 + L Kpaxyxgym b k + Kpex3ym
K,,(L(W+bx1+c)+kg) A bt )+
®(2,14) =0 (595)
IoLkepxi(—zco+ x
©(3,14) = oLkgpx1(—zco + x3)
2 212 %
Ky ax;x Ik Ik Ksr* (Kpe+x4)
L(if 13W+bx1+c)+k) — - e
( K g Ki (L(ik’;gilff:m +bx; +c) +kg) L(kail:,?:m +hx1+c> +kg Kpexaym
Tokept(—2c0 + x3) 213 LK2x n IoLkgx1 (596)
& «axX1X37m 3  axX37m 2
KiI(L(%+bx1+c)+kx) (L(%+bx1+c)+kg)
N 2
Kp-ax x I5k2 Iok Kot (Kpx +x4)
L( 1 13’Ym+bx1+c>+k> 0%g 2+ — g 4+ 5 { 4
( Kp ¢ Kif (L(*KIZ:TTEJM +bx; +c) +kg) L( IK,;ErS;m +bx1+c) +kg Ky 257m
BLiZpx (—% +1)
®(4,14) = —
3 12K2 *
Kpaxyx; 0 lok Ko™ (Kps+x4)
L<7I 137’“+bx1+c)+k) 1 e
( Ko+ ¢ Kir (L(iklz‘;:ff:m +bx1+c) +kg) L( Ikiilﬁzm +bx1+c)+kg Krexaym
Iok.
IoLk Vxl(—@Jrl) T — X
¢ o L( IKI;l«#S;m +bx1+c) +kg
L Kooy | ey ) 4k 2 15k + Iokg K™ (Kpe+x4) (897)
Ky +x4 X1 ¢ 8 Kpxax1¥37m 2 L Kpx axqx37m b k K= x37m
A ) (T by ) +hg
Iok 2I3LK2 xy IpLk,xy
Ik (—ﬂ + 1) - —x - + -
sH X3 Kpaxpxgym 4 Ky axy . 3 Kpraxqx 2
N I R A (C o N Ty
2
Ky axyx 12k2 Iok Kyr™ (Kpe+x4)
L(I 13W+bx1+c)+k) 07g 5 + — 8 4 2 I 4
( K+ I\ o (LS ) o) (M) kg K
IoLkg]/lxl (—% + 1) (—btx3 — X5+ 1)
@(5,14) = —
2 212 *
Ky«<axi1x3ym I5k: Iok Ko (Kpx +x.
(L( IKI* }Fi;y + bxl + C) - kg) K axq x; ’Vom : 2 + Kpxaxyx3ym . + IKI(* XIS’Ym 4)
Kit (L(ﬁ{»hxﬁ»c)Jrkg) L(W+bx1+c)+kg
213Lk2xq IpLkx (598)
ZCy 0 0 g1
Iokgpt (_T_f + 1) Ky ax 537 : 3+ [ : 5 | (=bixz — x5 +1)
N Kir (LG22 by o) +he ) (LSt +bx+c) +k )
212 2
. 2K Ik Kot (Kpo -4
(L (KIKI;TE:(;ZW + bxl + C) * kg> Kpx axqx Womx 7+ KI*“-‘l"sWV: : + IKI(* 1{3“::4)
Ky (L(ﬁ+bxl+c>+k;{) L(W+bx1+c)+kg

®(2,15) =0 (599)



213K 213k, Iokg I

— + 7~ g
Kpx axqx3vm Kpxaxqx3ym 2 Kpxaxqx3ym (le axy1x3ym )
Kit (L(I,(i+bx1+c)+k ) Kyt (L(Ikli+4 +bx1+c)+kx) (L(W+bx1+c)+kx) L( e +bxie) g

Iokgy(—zco + x3)

@(3,15) = —
2
Kpxax; x: 13K Ik, Ko (K= +x4)
L( 558820 1 by + ) + kg ) + « + Bty
( Kp+xq 1 8 K (L(K,z;qﬁm by +C) k. ) L(KIIZZ;TS:" H,le) g Kp=x37m
N Iokgp(—zco + x3)
2 12k2 X
Kpraxx. 0 Iok, Ksi" (Ki+xs)
L8585 4 by ) + k) s + kg +
( Kpr ¢ K (L (7@;;‘114?347”’ +bxy +c) +kg)2 L ( Klk:jljfzm +bx +C) +kg Kee 23
B Iop(—zco + x3)
Ky axx I5K2 Iok, Ko (K +x4)
L( 1 1371v1+bx1+c)+k) + _ 8 4 s I
( K+ +x4 8 K, (L ( KI*Kalrl 3T +C> +kg) L ( K}:(filjfzm +bx1+c) g Ky x37m

(S100)

Iokg I

Iok (—Mf +1) (7 - + -

gH X3 Ky axq 237, 2 Ky axyx37m
(L(J—Kngjq i +hx1+c)+kg) L(ix, +b"1+5> +kg

@(4,15) =
Kpaxyx37, s Iokg (Kps+x4)
L(’ ‘3"’+bx+c)+k) — + . s
( Kt 1 g K”<L<Kl;<;l21:3:m +bx1+c) +kx)2 L(K ;(:\1\mv +bx1+c) +kg K x37m
Iokg 212K2 12k Ik I
lok V(*ﬂ‘kl) K v — X4 3 £ 7 + £ T T TRy S
I e ) R g ] S ) (R ) N
2
Kjeax;x. I5k2 Lok, (K= +x4)
L(i’ ‘”"’-s—hxl-s-c)-v-k) : s+ et e
(5 N b (L (2 ) 1) (TR o)ty KPR
Ik,
Iok (—Z,ﬂ + 1) e ——— — X
O™ P (TR NP
2 212 %
Kpax x; 1§k Iokg Ksr* (K= +x4)
L( K50 4 by + ) + ko) 2 3+ et + K&
( Kp+xq 8 K11<L<1< ;;,11:3:,,, +P7X1+c>+ky> L( IK,LlHa;m +hx1+c)+kg Ki-x37m
Iok.
o (=2 +1) | g — %
oK L(E‘#l%yi%xﬁrc)Jrkg 4
+ I 4 h
K> axyx37, I5k2 Iok, Ksi ™ (Kp +x4)
Lm0 4 by +c) + ko) 0% + : o Rl
( Kyt ! ¢ K (L S thaite) ) LMttty KR
(5101)
212k2 213k, Iok I
Ik (——°+1)(—bx —x5+1) 0% - ok :+ ok - o
sH 13 5 Kpeaxx37m 3 Kpeaxy x37m Kpwax; x37m 2 Kpraxix3ym
K,,(L(Werlerc)Jrk‘g) K,‘,(L(IK’*ierlerc)Jrk\y) (L(Werxﬁrc)Jrkg) L( Kp= 34 +bx1+f)+kg
@(5,15) = >
Kpraxix3y 12k2 Iok. Ko (Kpe+x4)
L(5mmre 4 by +c) + k) r+ ¢ + KB L
Ko +x. 1 g K Ky axyx37m K x:
R K (L( ];xlulrmm +br1+c>+kg) L( 1K1x+(4 by +c)+kg 1+ X3m
nggy(——o T 1) (—brxs — x5+ 1)
(L(leﬂXlxs%n Tobxy + C) +k 2 13k + lokg + K" (K= +x4)
K +xg 8 Kpraxxg7m 2 Kpraxyxaym Ky X37m
K (L(J;K’*ﬂ‘1 +bx1+c)+kg) L( K73, +b;\1+c)+kg
Iok,
_ZG P U’ S —
Iokgy< o T 1) <L<K LTEE +bx1+c) T X4
_ I
(L(leaxlxs’)’m +bxy +C) 4k >2 12k2 S+ lokg + K" (K= +x4)
K +xy 8 K (L(Kllzﬂiljggvm +bY1+c)+kg) L(K *jiv:;ym Tox +C)+k8 K+ x37m
o)
o (—32 +1) (~brs —x5+1)
+
Kp=axix3y 12k% Iok Kor* (Kpe+2x4)
L5550 4 by +c) + ko) 0% + s o SR b
K +x. 1 8 Komarxin 2 * A X371 Kprx
e K“(L(%erxﬁrc)Jrkg) L(WMX +c)+k 1+X37m

(S102)



